ZEADFES MRS LN

[[]®8 1) 6z—5 (2 8a—2 (3 —a+b () —br—3y  3z—3y)+ 2z +2)
(1) (32 +y)+3(z—2) =3 +y + 3z — 6y 6
=3r+3x+y—6y _Sx—y+2x+4y
6
=6z — 5y 52 — 5y
(2) 4la—2b)+2(2a+3b)=4a —8b +4a +6b =5
— 4a +da — 8b + 6
=8a —2b
= 1 o lx+Ty
(3) 4(2a+b)—3(3a +b)=8a +4b —9a —3b b —Te+y @ 5
—8a—9a +4b —3b (1) 3(z+2y)—5(2z +y) =3z + 6y — 10z — 5y
(4) 6(z —2y)—3(dz —3y) = bz — 12y — 122 + 9y = Tzty
=6x—12z— 12y + % @) x+3@/+2.7c—y_3(x+3y)+2(2x—y)
= —6r—3y 2 3 7 6 6
_ 3z +3y)+ 202z —y)
= 6
= 3z 42y 7 5z — by
m = @ g @) e+ y+de—2y
o x—4y+x+?ry _x—4y+2(x+3y) 6
4 2 T 1 4 _TztTy
(z—4y)+2x+3y) 6
= 4
_x—4y+2x+6y
= 4
_ Jx+2y
=73
9 a2 _2a-% _2a+2%) 2a—3%
3 6 6 6
_ 2a+2b)—(2a—3b)
6
_2a+4b—2a+3b
= 6
7
=5
=3 . z+% 3z—3) . 2z+2)
B 5 *+t—3 =7 % T %




